Maisonette in Zejtun



Reference No: 240061007-7995

Zejtun, South



€270,000

Total Rooms: 7

Bathrooms: 2

Floor Area (m²): 110

Bedrooms: 2

Maisonette - For Sale - Zejtun

Newly built Ground floor Maisonette, is being sold fully furnished and fully airconditioned, ready to move into. The property is set with 2 bedrooms and a study, which could be used as a 3rd bedroom. It is ideal for first time buyers or elderly people and people with special needs since it is entirely set at ground floor level with no stairs, thus every room is easily accessible. The property consists of an open plan and very spacious kitchen/dining/living, main bathroom, internal yard, 2 bedrooms main with en suite and a backyard ideal for entertainment, in which there is a small area that could be used as a washroom. Call agent for immediate viewing. This property also has a great potential as a rental investment.

Features

- ✓ Kitchen/Dinette
- En Suite
- PVC Piping
- ✓ Skirting
- Back Yard
- ✓ Satellite / TV/ Cable

- Ceramic Floor
- Gypsum Plastering
- ✓ A/C
- Yard
- Video Intercom

Rooms

- ✓ Kitchen/Living/Dining: 4.45 x 5.98 m (26.61 m2)
- Office / Study : 2.74 x 2.51 m (6.88 m2)
- ✓ Hallway: 9.42 x 1.2 m (11.3 m2)
- ✓ Box Room : 2.53 x 0.85 m (2.15 m2)
- ✓ Bathroom : 1.4 x 2.72 m (3.81 m2)
- ✓ Single Bedroom : 2.73 x 3.36 m (9.17 m2)
- ✓ Double Bedroom : 4.11 x 5.44 m (22.36 m2)
- ✓ Shower Ensuite : 1.63 x 1.47 m (2.4 m2)
- ✓ Open Space : 3.64 x 4 m (14.56 m2)
- ✓ Open Space : 4.27 x 1.22 m (5.21 m2)

Gallery















RE/MAX Superior - Fgura RE/MAX Superior - Fgura

M: 23910000

E: fgr@remax.com.mt

T: 23910000

RE/MAX Superior - Fgura 368,Zabbar Road, Fgura, Malta